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FIRE & CONSEQUENTIAL LOSS INSURANCE
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
~compulsory. All other questions carry 12 marks each.

Marks
1. e o fafee (@ ) ; 7 (9 % 4 3i%)
F) @R -
@) FAEE B TIE HdA
M) oy &
) gl (%) & oo & i ot o

1. Write short notes (any three) : 4 each
a) Insurable Interest
b) Surveyor's primary duties
¢) Micro Insurance
d) Fireinsurance in U. K. Market.
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2. Distinguish between original coveragé and add on extension (any three) : 4 each
a) ImpactDamage b) Debrisremoval

c) Architects fees d) Earthquake.
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State the following : (any three)

a) Designation of property Clause.

b) Without prejudice.
¢) Contract Price Insurance
d) Salvage.
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Draft the following (any two)
a) Proposal form

b) Endorsements for change of address.

¢) RiskInspection Report. -
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Distinguish between (any two) :-

a) Annual Turnover and Standard Turnover
b) Compulsory deductibles and voluntary deductibles under AR

6 each

c) Cancellation of Policy by the Insurer and cancellation of policy by the.

Insured.
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Discuss the following (any two) : 6 each
a) - Endorsement

b) Onus of proof

c) Damage to suppliers Premises.
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What is your opinion, whether the fire tariff system be reintroduced or present 12
detariff system is to continue. Analyse fully the advantage and dlsadvantage of
both.
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Sum Insured | - 'Rs.15lacs , 12
Gross Profit : - Rs.20lacs -
Financial year Turnover - Rs. 801acs
- Standard Turnover - Rs. 80 lacs

Annual Turnover ‘ - Rs. 80 lacs.
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Tumover during indemnity period - Rs.301acs
Additional Expenditure - Rs. 2 lacs
Saving in Insured Standing Charges - Rs. 25,000

Calculate the loss payable under the policy.
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- IRD Ahas opened the doors for the Private Sector Insurers. How it will effect

the business of Nationalised Insurance Companies.
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Losses which are not payable under consequential loss Policy.
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